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1. Sound waves consist of 20 Compressions and | [Ans. (a) : 5557 70607 & #9 720 F a0 w59 709
20 rare in 10 meter length, The wavelength of &, Tz ﬁgﬂw o A, TR A9 G-AR (Earth Wire)
wave is— - . it 5
10 =7 wrAm oAty wi F 20 wefre A oy m S5 mﬁ'é"mﬁq AT
Fiiaie 74 1 S A A A O 8 e
20 ferrers fi i o b . T WA T €, FEA AW 9w A o W #) §-an
(8} 50 cmy 50 T b} 25 cmy25 H R R R R LR R R
(€1 75 emy75 EL (i 100 em 100 T | \orerm w7 # g oEm ) Frgw A S A o o
Ans. fa) £ ||7e% mem s g & wm W R sl T A
f— fwﬁ] A FEE (shock) A A A9 AW A1 A gAw
FnmETEE () s — Ecaiveak: pofd]
i e 4. Kirchhaff's current law based on conservation
U U P ot
0 w ) Tarraie w ar wee fry ferss st &
i : 77 Hm A T F me F R R
wE g P o o aln Tl sl a g B, 56 (a) Momentumy/53m (k) Energy/ &1
atmdud e ) 2 9w g (e} Chiarge/smin (d) Mass/To R

2. If 43 and 32 be respectively the absolute ||ans, (¢) ; FFATF %1 9mr @48 famm smm % degn &
refractive index of water and glass, then the |\t @ apafig 7)

AT 372 7, U w5 || T o A 56 A S o g e
r ) # fors % uftee & Frm Fwen £ 9 fem R

fmys ofendi % fw e ST e wowe e F
) 8 T Freit & i w £
ic) 43 id) 34 B
° - X ||o i & wpr % Frm o speEm Bef dre oo
Ans, (a) 2 T F AT 0, = T W A A A A @ oA
o AE A W W A awed @ e dm
H A ATHAE @ g = i E

|

u"irilng, what is the colour of |

ey A & s e A |

The decimal number equivalent of binary

{a} Green/TT b} Red/ @ number {1101}, is—/ETZTH e (1101), % 770
(<) Black/ w1 () White/ T T T e
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() 11 ki %
) 13 s
Ans, (¢) : fE-arafl S (AR T FoTwed A

el F A SEn R E AW W e e A
T R TR A A

N T |
dibil= B e o %
(071, = (e P h (1 P+ (0= 2 4 (1% 2")

—ﬁ 4+U+|-'|.1

6. Whatis silk farming? T T S FEART §7

{a) Pisciculture, TR

(k) Epiculture; THFe

(&) Sericuliure/ FEER

{d) Agriculture THFT
Ans. (¢} : TN T T R BOITW R WE W o9
FimE (Senculture) FEAR # | TTH IR W
= e  tyw W = F B g s e
arer e g #
s iR A TR 8, TR
Gy TEEET E A § e we R

I ANl organisms belonging to Kingdom Protista
are—.‘;\gﬁﬂT A ﬁgn}:‘a‘u zz!g Eai ]
et g i
{ul L.'nic\nllulurund ?mkafjmtiﬂ

2 aa

{b} Unicellular and cukaryotic
TR T g
{c) Multicellular and prokuaryotic
: S
(d) Multicellular and eukaryotic
7 aa
Ans. (b} : TR W § @A @9 A9 A6 99
TERNEE w s WE wm § w1
oo frsfim Few o oam #1 % e o, oefd
A w T AR E
Which of the following pigment is associated
with the germination of seeds?
oW F-w avE A w s
# st T 7
() Plastocyaning T mTEFA
(b Phytochrome/ g e
) (‘hlomphyll(‘i&ﬁ'f’!f’-ﬁ‘ﬁ
(d) Xanthophyll/#=ifE
Ans. (b) : FEEmEm avis A F st § wrew g
#1 TR FAREA @ WA A 3 A% AW F g a

e Fo & T Aol B 11

GETIT ON
Google Play

»  EEEEEE OF AW g A § o e s
o T A A T A A T R
ot sfn # qfte fooe &)
FfEA s % s e W@
#1 7% g w0 O o faeEm A f
The tissue that connects one bone with the
other bone is ealled
o W T o W g
AT &
() Cortilage/ T (Fidda)
() Adipose tissue/FHTT FAH
() Epithelium/ToFen (mirfferm
{d) Lighaments/ &g (Femi)
Ans. (d) : T FE, AT A (AR R A
iz &, g (et wEam B
o T I A TN H A F AgW§ T FwT A
[ Tendon) % #1
* ST FAE A W F O G s w6
e, g A wfar afifa e & awd bl
W T A

» TEET FAE, IAF A H A o ow f)
FF {9 FEE FAE W AET @9 21 9w A
wm T wfafis awind wa & ot w64 T )

10.

Vivipurous germination of seeds ecour in—

A A (fafim s Ee -

() Rhizophora, TErem &

{B) Mango/ 5 #

(e} Putany 27 §

idy bugprcaneﬂ'l';l 7
Ams. () ﬁmmwcﬁﬁmmm
(T e A # s A W s A
fom sfiwfi 1 smavrEa B B A TEee d
B el il A e i i
S TR L A AEha @ A g T g s
[ Viviparus) T &1

11, ST unit of heat is, ST &1 TELAT. 974 26T &
() Ergsa k) JouleTH
(¢) Calorie/ FerT id) Wat/==

Ans. (b} : FH F UH A, (SI) AEF A 71 HE

(Heat) 0% 5 #1 5 § @ 4 a9 & 49 9%
T T A U FE F g 75 e i f)
TR F A R T FEAn f s F A
e # w = AE A A
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12 If P, F and A represent pressure, force and
area respectively, then—
afE P, FAGT A EEET: W, W U SR
Wt w6, A
F F
B} P= b} P=—
{a) A ik} *
E v
o) == P=—
) P = idi 7y
A (F) F
Ans. (a}: TH (P} =—+——— , ¥} P=—27"H
M) ! A (A) A T
s T 2, 79 wiEw 0 OF SAEa sfew 9 )
° THE HIET W W T TH R T o
15 Tf the momentum of bady increases from 10

unit to 25 unit in 5 sec, then working force
acting o it is—
aft 5 #eeE § O a9 W HST 10 A R
TAGHT 15 WAF T AU, A TH W FHE T
k-
{2) 2 unit/2 A
e} 3 unit/3 9FR
Ang, (€} ; 1= Sser,
Py = 10k msec
Py= 25kg.misee
F=v
le‘:—f‘. =25—IU=I5=3N

i 5 S5
TR F AT (Impulse of foree) : A B AW Pl

(B} 1 unit/ W
1di 4 uni/ 4 JEE

|

GETIT ON
Google Play

Ans. (b) : GF0 T ® 709§ oWE W ITEE A
i T = W gEeE A f e i o
NE (Mica) TF TR a@fra § W s e Eeii)
T A AvE R H e A A W wen O, a1
T T W E R AR W W gEes AW A W
FrAE A F ) FH g @i T w5 o
T T R AR TR I WA S § T, e
% W%z ¥ amm T F fFw oA £ A oA
IR, I, A, fE, e e e
# o T E E)
15, Angle of dip at magnetic pole of earth is—

et & eaT E ov Ao i g

(ay 45° by 0"

©W _wis
Ans. ) : TR F oftomdy e i @ frmowm Sfe|
Fam & W 994 T FW R AR WO A AR RO
B get F R qF W A A W AW s A
P qeR T I F0 A A O° #
16,

The source of oxygen liberated as !ly]:radurl
during photosyntlhesis  is—WERTA-

T & W AR AT o -

(i) Water/ 3

(b Carbon dioxide/ FRA SHAfFRE

(e} Glucose/ THE

{d) Chlorophy |/

Ans. () : THRO-HTEATT H TR F F A T AT
1 A T (Water) B

e i ween 6 FefEn TR g o & e
1 TEEE (M) T I (OHAE s

4H F NADP B9 575 NADPH, & afafta & @ §1
(FRifmEE e

4H" + NADP — ZNADPH,

W WA FH WG A% TEW W A AW #Hw wE =
TR B AW A e w §ow i o B || e
7 A 4H.0 5 4H" + 40H
AP =FAT
AP
F=im :
14.  Mica is used in cooking wtensil beeause it is— PRacTs Teee)

N A oA

i -

{a) Bad conductor of heat bot good conductor of
eleciricity/ ¥®1 ®1 FamE o frg w0
e g R

Erc ] b

g||* 40H Huf d o 7 SRR T 2

40H"—*" o0 0+ 0, 1 HO"

sifmdam ar 4 fagw @ A # sRR A TErTEn

i T W ) § T o, 3 R E A

17. The component of bloed that prevents its
ik} Good conductor of heat but bad conductor of clotting in intact blood vessels is—
electricity/ ¥ &1 qaes w0 frgg ow= T W AE WEw A1 Ten ANGE § g e
A g # o F T -
() Good conductor of both heat and electricity i) Heparim’f?ﬂﬁﬂ
s o P A E g () Antibody/ =TT
{d) bad conductor of both heat and electricity (£} Thrombin; ==
o Py 2w g g d () HaemoglobinErimsitm
UPTET (V-V11T) Math & Scionce 23 T, 2022 652 YCT
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Ans. (a) 1 T A T GH, A ARG o A F 0

ﬁ?mﬂﬁﬁﬁm%ﬁ%mwurimmél

o T HE A A AwE e e s f e
#rrefa w2 £)

o e (Antibodies) 3T T599 (Antigen) B2 =0
A #) v () A s w6
w1 A = A T

« AR W 1 AR § O e e E)

18, Islets of Langerhans are present in—
i i gifend yed wd -

{a) Liver/ 5 (b} Stetmach, AR
{c) Pancreas/ T-TE (d} Heart/ T35

GETIT ON
Google Play

Ans. (a) : TEIF 5 F TF=% (monomer) HATHA,
CH. = C(CH:) CH = CH, 9 #1 55t s 3 fafimy
W v F U A e R (Laex) #o99 R
I {1 % T W 93 A = A I e
5 o 58 Rl F e T e T gt T e
) v i i 5 oF ot aed e

12

Which cnmpmmd has highest boiling point
wAtfi T AT S - 7

{a) Isupentane; SRAMT=A
(b} n-pentane/n-T=

(4] prrnwmfﬁaﬁﬁ-——h
(d) Tsabutane, ATEHEET

Almirl:ﬁ’ﬁéﬂﬂmwﬁm?ﬁ%
A § UF fEE W A S ¥ owm e
w ¥ # dmiw i wem § dwE g @ e
aﬁﬁmﬁsﬂﬁ?mmﬁméﬁwﬁ'ﬁ?aﬂ
A % w0 H o o A %;
19. Engzymes are c-hemimll\— -

TR = F -

) Acid/SE

(b1 Lipid/fefie

{61 Carbohydrate/ FRlERET

() Protein/ T
Ans. (d) ; v Al wT A R4 6 &) remm
it sl # ohw W oA w6 3 F
?ﬁ\;ﬁ @i # A T At = w5
a1 el
o« TE TEEA AT U R A U (pH) 5§ 7.5 79
it o i i zgpE Fe A pH 9 9 )
T A W AT FR W EmhE S g
T A A
20, Which of the following scid is also a vitamin?

Fererferfia - &

(a1 Ascorbic acid/TEFET 5ma

(k) Formic acid/WfHF 3707

{e) Mialic acid/AfE w

() Palmitic acid/TwifzF 7157
Ans, (n) : TEHTdE s w0 wwe AW fefe #)
eagt 0 & =l e O g # e g we- e,
e, wie, W, A= W
21 The monsmer of natural rubber is—
W TAT T U AT §—
(1) Isoprene/ FTTHER
{b) Neoprene, FawiT
(e Terylene/FHFR
() Ovleny #TA

Ans, (h) : THEE FEAE A AR T Fon-
TEEA T R o § e wpE w1 e
TE F WG A f o & e 39 A
TR e TR F R R AR E A e
st # wEn wRA F A A e §, 46w
aﬁrﬁé'—rﬁrqﬂmﬁﬁ%aﬁmﬁﬁmm&

FAE 0 T > S
e = -12%
TR ;0T > AT = A
360 2 es'e
13.  The number of m-clectrons in molecule of
aromatic compound is-

i & s T r-geEEE #

s wr

() 4n+ 1 ib) 4n

(e) dnt2 id) 2nt4
An!.i:l:mm% mﬁﬁn—mﬂ
g gan + 2) B #1 W 40 + 2) R rogErEE
17 #1 78 A (a0 + 21 # = B e G 99 o
=0,1,2,3...... 900 ¥ quis &) FeEm & far dwie
i o s IEEE @A A (o2 AT F e
| i wam vt w % R A e e
F WA A HAEE B
ko

o

dn+ 2 = 6o gEFITA

An =62

dn=4

n=1
. 3 W T A
24.

Rutherford's alpha () particles seatfering
experiment resulted into discovery of—
TP fa) T

wEE &

wfrmrEErE T fEr -
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(a1 Nueleus in the atom, 5 3 Gfgs

() Proton/Sizi

{1 Eleewon, 7720

(d1 Atomic mass/ TR F57AE
Ans, (@) : TETEE F UEE (o) W FAOR 5 3
T 7t S G Ao
AE WA % W i g aEwd e
fiaw §frem difre faaed sfe woe il W)
TER-F F AN & S | o -w W
# m Frepd freen mm e v w oW aAEm s
e e SR WA F S et e
w7 F o] a1 A = 2
5. Which ane of the following

heterogenous misture?

= fawmier firson =9 &7

(a1 Milksgs ) Air/E

r) smkcqﬂf (d) Jelly/7el
Ans, (b : TTI A F T G A A A
o 7 foge Fowk wem am 0 o3E sEed gEdl &
e T T UE WA R #, @ e swen #)
TH WA F WA F oEE W AW AE § o aE
wE # - i o A faeem, e, s
st feam §1 g e w5 w wE|
T 7
« TAfF 7 (7, T A T o ), g, A6
ERuRcRicE R cRE R E R LR
wha § dm = ww
26.

s not a

Which of the following is not a constituent of
petrolenm?

@ wE-E e W e
T %7

{8} Coke/AT
) Petrol/3ZM
{c) Paraffin was,/ S i
[d.] Lubricating oil /=IE% 7 FFI
Ans, (a): 3 § § B weifaa @ e A 6
. ﬁﬁﬁmr FEEEEA s A TE WE WA F

& I fEE R e T, ﬁ'u'flr-rlﬂﬂ
FAAE, MEAE W A A= IwEnn e e
7

« FIE TIEEM W oSTEE T 2 T UE wIR, W
A TR A WS F A T g e |
T &1 7w W oy E § frma awm
TR F s A oA o ame & e A
foran

GETIT ON
Google Play

A metal 'M" does not libernte hydrogen from
acids, but reacts with oxvgen 1o give a black
enlour product. Identify "M,

T U M st # R e e ol
¥, wi wtwdros @ e or e s

w1 it ST %1 M
{a) Mg (k) Na
ic) Cu i) Ca

Ans. (¢} : TR (Cu) 7 7 W A oAEEEA OF W
A | FW WA WA F A= W e W e
oW T AR (Cu,0) #R TR SRS
({CuQ) T A = #)

10U +4HCL+ 0, — 2CuCl, + 2H.0

alE i (Nay, A (Me) T ()
et 4 o s T A R

Mg+ H.S0, - MgSO, +H.

Ca+ ZHCl - CuCl, + H,

I8, Which of the following has maximum number
of atoms?/ Frerfafia
wE it g
(a) 16gof U0 CO, F16g
b) 16z of Ny Ny F 16g
(e} 16g of CHy! CH, T 16g
1) 16gef Oy O ¥ I6g
(Ams. (c) : CH, 5 16g 5 TR o dm sioman 2 0
T e (o) = 20 {9 )
2 TR W
(CH, T W] ¥R = 12+1x4=16, n= :: =1

0, %1 e = I2+2116—¢4,n=%=0.\\ﬁ

02 %1 TE T = 2x16 = 32,0 = [—"-o.ﬁ

16
N, T T 9 =2x 14 =28 n= _OS‘?

© CHEN > O 00, (Tt a:l HET G
sre‘rn iFlT)
29,

n Iallmutnr\ﬁ ethylene and acetylene can be
distinguished by—

el sl ufafeels wr e § 38 4
T T fesifan foam e £7

(a) KMn, /OH/H,0

(k) Br,/H.0
(&) Tollen's reagenty Zers sfisds

{d) Fehling solution el famaT
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PR g o o e
s (st faem gzt aw ffs)
e = #1 wEiEe atEe fEe T fe
(Zive st § o i i (Ae,C)
T S T R

CH = CH + 2AgND, + INH,0H —+

AEC =CAg+2INH,NO, +2H,0

fomm ifemmes coem o)

» FE T 2o AR # A T A )
T 2

CH, = CH, + 2AgNO, + INH,0H — Frf sifufen w1
0.

In which of the given compound exidation
wumber of axygen is +2 7
i ifirel F & fie difer & artefor

i TR T 42 §7
] Ny bl OF;
{e) NaO; 1) Naly

Ans, (h) : B T AR & OF, 7 aftede A
St g 12 8
am OF, # siwdem () # sfiwfwor x #1 F #)
sigdrre e =-|

OF.

x5 =12 =0

x-2=0

» T S A A de -2 86 #
3.

A company makes an advertisement collect o
capital of Rs. 25 laes of shares the printed price
of one share is Rs. 100 then find the number of

GETIT ON
Google Play

From a pack of 52 playing cards one card is
drawn st random, What is the probability that
the card is a spade or an ace?

AT 52 U W T § uw uer s §
foramren AT 1 A Wi § R T g
o T Y

[ 4
-— B —
(al m b E
§ 2
) ~— {d) =
© 5 s
Ans, (b): T OF s v omh B P o T 3
W A T T A AT =13 +3= 16
AT FA A A = |6
A 5EAE =52
. FH B9 9EA
T b E-c o a1 v P
B e A T
16 _4
5113

33 In figure ABCD is a cyclic quadrilateral, then
the ordered pair (x,y) is—

fam # ABCD TF = =g §) A w
T ) b

(ay (10%15%
(e (15,35%

{b) (15°25%
{d) (407,35

shares circalated by the company— Ans. (b} = TH ?ﬁtx‘ﬁ & e Foli FAMEA |80
T FAT 25 TN wUd F G wwm ww | (f
& fordt srdt wt o et §1 =fy o v L AAELC=1ED"
1 ST 100 FOG A wHAT G A 3y—5" 4 Tx 45"
mwmmmmm_ Tx <3y 180"
) 25000 shares/ 25000 7T SE mDAT
1b) 20000 sharesf2 0000 ¥ ey 20 = 1500
{c) 30000 shares/2 0000 TW Pag e
(d) 15000 shares/1 5000 47 S
- B ey e e e e Xty =40
Ans, (a) 1 - 100 T ST T F I W N = 1 Siine 0 S R
E: EeerllE £ X +3y =120 ]
C. 25 T FE F o g F I H e ‘ﬁ’f ~ - aagm
_ 2500000 o T f;) ;“ﬁ]a:—l =M T,
100 X+3y=
e Axtdy = 120
a: O B T Pl S e 25000 #1 ——
UBTET (V-VILE Math & Seivnee 23 00, 2012 LES YCT


https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Addal247)

60
vl
4
x=15"
3 y=25"

. wfm T (150, 250 dm
34, For what value of x the mode of the following
data is 277
x % ToFR W % o e gl = age 27
7

25,26, 27, 23, 27, 26, 24, 1. 27, 26, 25, 25

(a1 24 b 27

{c1 25 (d 26

Ans. (b) : 3FE F amrd ®=0 E fem w -

23, 14, 25, 25, 25, 20, 26, 26, 27, 27, 17.X

25 3 s =3 A

26 3 R = 3 W

27 o A = 3 A

0: FFF T AAE 27 T F 0« =27 F R
M- x= 127

35 Wx=2y=1z=-3then x' +¥ +7 - 3nyz
equals
AW x=2y=1z=-3 8 W+ + - Inyz
T
1) 2 bl &
{c) & ) o

Ans. (d) : TF F,
{x+ty+zj=2+1-3=0

S
R R

-;-[v+>'+z][{x —yf +{y-2) +(z—x) ] =0

Jatin buys an article for 10% less than its value
and sells it for 10% more than its value, his
aain is—

W UE e W OFEE qRE H O10% ®A 0T
wiwm § W WE gFm W O10% s W
et ¥ e

36,

7
ia) 226%
{b) 20%
ic) 22 E "
9
{1 Mone of these/TT 4 =¥
Ans, (¢} : A1 T F AR g = TW00x
o ETE < 00

3 .'.\‘.,.

GETIT ON
Google Play

ST = s =90 =T 20x

et =

100
ket
_ w100 300

RUIEY a

2
w: AP W oA 2250 R

If the roots of the equation x°=px+54=0 are in
the ratio 2:3, then the value of p is—
ufy T —px+Sd=0E WA 23 K

s P oA A 15 E

e # €, wtp A g

fay 21 {b) 18

fey =2 (dy 15
Ans, (d) 1 TF O A 2eeofiE S0 89 W,
xE-pr+S4=0

—-P} i bz
Z4+3a =" [iﬁia:rqmw:.aﬁJ
0= P

Eiich 2r1.3r:=% [Wﬂw:iﬁ]

6n’ = 54
fnt =
6x|%1:54 L (1) FAH T W
A

, _54x25
6

p=v225a15

38,

R

i PR - 2 10x

Ans. {a) : 71 T WE W oA 3.-‘

WY UEE AW g WE SN b, U G o me g
Bekpck R ks A R PN

Rativ of the heights of twe right circular cones
is 25 ; 64 and ratio of their dinmeters is 4:5,
The ratio of their volumes is—

T A WE @ SeEdl W S
25164 WAT ITH A B AU 4:5 £ T
ArorEt w AT
(@14

CER

"
|

|

=

g gim Al Fowmd w owgw -
6

"’szs

2 i85 16

Ag) 1625
SJ? 25 64
2 w4

T4

i=|:4
4
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39, I A = {x:xisa letter in word BELOW),

Bo={x:xisaletter in word WOOL} and

C = A — B, then the number of subsets of C is—

Al A =[x : x & BELOW 1 UF a1a &) v
B={x:x 9% WOOL %1 0% H&w ¥ | 7ar
=A—B#, A C ¥ IO # A -
{a} 2 (LI

{c) 3 di 4

Ans. (d}: A =B ELOQW]

B={W,0L}

LC=A-B={BE
#WOCF I B OFET =2 =2 -4 o
T C F A E D
40.  The perimeter of a rhombus whose disgonals

are 10 cm and 24 cm is=
b % faant 10 B T 249 &,
= o &
{a} 34 emy34 T
(b1 1200 cny1 20 FE
{c) 6K cmi68 FHT
i) 52 emysz W
Ans, (d}: T BD =10em, AC=2dem

.+ W i e o o sy e
‘ .

A B

S0A = OC = 12em [+ DA = AC=0C)

OB =00 = Sem [~ OB =BD-0B)
AADE #,

=0A’+ OB (TRETIRE T &)
B =144+25

AB =13em

A mrmda # o g g §

S WA F U = 4x13 = 52em

41, Which of the following statement is true?
o Fr-a e e i

GETIT ON
Google Play

() Comgruence of triangles ean be learmt without
learning  algebro Aitamfi w1 w2 fm o
i 1 T
() Statistics can he  leamnt WI |hc|u| learning
alpebra sdraafin % il &
w31
Ans. (b) : TTF 7§ ¥ T - MW # EfE T S5
i, S I T e WO A E W R
drmfers 6 Fafios i %2 g sbeafim & Fem o &
fm # faf ol v g # sl T
i B
42, Which among the following is the
pedagogical way to teach mathematics?
T SroATeR - A &
= 7
() Find the weakness und teach only those parts
e e f T & e
by Mativate the learners o develop their existing
c1p1b|||||-:s.n’ﬁ‘1“TﬁW F T e e
T fafom w5 fom dwnfen Fon
() Find the gups and address only them
A o e 5 g w
{d) Teach every student with the same approach
L ] 5 w5 A A Iwe
Anis. {b) : T B W R s A
kil aﬂﬁﬁ foreet s o Fesfim w0 % o et
S s f) g wEAW § ow i E o
= uF w5 e "
43, I As sabary is 25% more than that of B, then how
much percent is Bs salary ess than that of A?
ufe A % ¥AF B T W 25% AEw £, A

lest

I 3T 3 A e e w47
() 18% ib) 25%
o) 20%

{d) 15%

(Ams. (c) : YT T [HJU

I B A A H T 20% T R

(87 Edworionscin b lowar witious Turring | 44, D500 2 Jn GRCT OmEREE 01 Pt
arithmetic /HFIT A T O T wis -
F T A A R W W @ a8 f oAty =

(b) Different branches of mathematics viz. =gel @ A 815 &, W E wEms ®r
Algebra, Geometry ete. are dependent on T A L
each other, MM F  fafim P () 4.4 1,7
Apamfina, wfafr gefy w gt frddy () 2.6 (35
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Ans. (d) : T TER T FA x A T A
pre RERAR L {
TN,
b I 8
o + =
x B-x 15
Lk

15

B-x+x
xiE-x)
15=8x—-x"

X —Ex+15=0

X =S-dx+15=0
x(x=5=-Hx-5) =0
{a=5Kx=3}=0

SE=5HT3

et e demd 3 i 5 ER
45,

The expenditare of 4 family in a month is given
in figure. 10 the difference of expenditure
between education and travel is Rs, 4,000; what
will be the total income of the family?

Tarwit wftar = mivs = e fam & sgan
& mfy foram waw om0 T W AW T 4000

&, o uftare =5 e s fperch wefi?
[, baiadaaicl
(R =
.
o
{a) T 40,000 (b} T 50,000
{1 ¥ 60,00 (d) ¥ 20,000
Ans, (a) 1 T TR H FW AT T 0 F
T,
5% 15x
Zox IR ao00
100 1
1= 00000
% = TA0000
¥ TR F A A = 40000 11

46. In & religious gathering the ratio of number of
ladics to that of gents was 3:2. When 20 more
gents joined, the ratio was reveres the oumber
of ladies was—

uw uifiw smEew # feei sfm qEe @
T B AT 301 9T 20 ¥ Ol F
M H w1 T e fet 2w fwr

GETIT ON
Google Play

Ans. (d) : TF ST aTA A e AR TEd A
e A =32
w1 figl s i o st 3y A 2x 2
i 2

2+20 3

U =d4x+4)

Sx=40

n=h
=7 fl #1 5 24 )
47,

For three non-zero real numbers a, b, ¢if

£=_b=s=ﬂ+—sc the value of K is—

2 3 4 K

AT s et wemsd a.b.e % fo afy
a b ¢ la—3b+5c o
3_?_;_Tm.a’rxwmt

(a) 15 by 10

ie) 20 {dy 25

L2

Ans. {a): '-'TFIT%

Sa=Ixb=3xc=dx

Za—3b+ S =R (1Y

a b 3 e w AH L (1) H A W
2 =23x -3 =3 +5xdx-Kx

13 =Kz
i K= 15
4&. tl’!\ ali{ Il-lw any two sets such that A—E =A
then A B is-
afy A ot B wrf G EgEE AL R A B - A
AL AAB §
fa) A B &
i) B dy AuB
Ans b} AT A=, 2,3
B= 14,3, 6}
AB=(1,2,33 14,561 =11,23}=A

ArB = {1, 2, 3} ~ {4, 5 6} = (FE § i
e 6

49, If the roots of the equation x' —hx+c=0are
twa consecutive integers, then b’ - 4¢ is—
' =bx+c=0% A T FEATH

i e w1, A4 b - de®
i -1 iy 1
o (dy 2

An, (b} s 7T T, a0 ~bx b o= 0 % FAOT G o 7

eff? a+l 8@,
{u) 40 (b1 36 E e AT s ey
i) 16 (24 et T
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lo+l=b
o wiatlh=c (FE T )
LB 4o ={2a +1F —dulm 1)
= du b do’ - da
=1
50.  The HCF and LCM of two numbers is 13 and

1989 respectively. If one of the number is 117,
then the other number fs—

= wEE W WA, s WA, F I!!ﬁ'{“

1080 %, T TR EET 117 @, IR EE

(b} 222

(d} 225

Ans (a): T OH % A 9, = TEdl HEm o« 250 den
13 1989 = 117« 784 e

3 ayﬁsimu%::;zl

(a) 221

T 3A T 221 #

1. Ma,a+ 2 a+4are prime numbers, then the

mumber of values of 'a’ are-
AGa,a+2,a+4 T AW et
o e £7
(2] Tood
(b} One/TH
() Three/F97
() More than three/dA & 7
Ams. (b} ¢ w4, a+la+d WEAET SE (Prime
number) #1
3.57

(a=3) 70 o afrares e

GETIT ON
Google Play

53, When " + 1 is divided by x = 1, then what is
the remainder 2 x'* + | W1 x - 1 9 qr famn
T, At Fry ey
a1 i) 0
ey 2 i) -1

Ans{e}: x7+1
x-l=0=x=1 T T, {76 W T)
3 ITEE = () +1=2
If A and‘ln are non-empty subsets of a set (‘1
then A w(A n BLs equal to—
af A T B WHweE C % AfAfis S,
A AUAAB) TTETE
) AvB i AnB
(e} A i) B
Ans.{e): A A B WL (AR ameem §)
M A ={L23 B={234 C={12345]
ArB={123n]254]=(23]

LAUAAB =230 w23

={L23l=A
W A{ACBYL A F T #1
55, The population of a village increases by 5%
vearly. If at present the population of the
village is 4410, then what was the population
before 2 years?
wE Nha = A wied sy @y e §) are
A W MW W A 4410 7, A2

o F e uF O g A e 3 T F A e
Afaara FEAM (Prime number) - 75 Fw 5 k430 i 3420,
FA 1 o T W g @ wEE A A, S B2 i 300g
sl g 31 96 3,5,7,11.13 wf) Ans. (d) : -_-A=P[|+L\' 7 wemm #, T A W
5I,  Find the biggest 4 digit number which is a 100 )
perfect square./ ST W W F wdt W | |, p oA o g A e, - S T s T
A wifad i gut = i o=z 7f
(a) 1§99 b} 9009 PR
() %000 1di 9801 4410=F| 1+ﬁ|
[Ams. iy« 7 5F o mrd A e = 9vue | b %
[y
99 H410-p} = ]
9 20/
E -4y
il )] P = 4410522 - 4000
19 | 1899 g .
@ 170 o T T [ T T = 4000
%198 6. The number of ohservations in a survey is 40, If
i e o the mean of first 10 abservations is 4.5 and that
o W A A T]f T HE = 9998 - 198 of remaining is 3.5, then the mean of whale
= 9g0] #1 survey is—
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R wtar © Y w w40 § 9w waw 0
Tt T Ay 4.5 T 9y =T AT 45w, A

GETIT ON
Google Play

50 Wi # w1 e w53 ° # wEm
AT & T T H e — 1.8 §1 6

gt wwfurm = e ) FETHT T AT
{a) 3.0 (b} 282 {a) 53.5 (b} 49.5
(c) 375 (d) 435 (€} 46,5 i) 56,5

Ans. (c) 2 Bl ) wen = 40
S T R A AT < 10 < 4.5 - 45
ifim iy il A - 30 % 3.5 = 08
T 40 A T AW - 45 4 105 - 150

Ans. {d) : FFT S0 FATE %, %

SYTHT,

(83— )+{53—x, )+ {53—x, }+.. +[53-2y)
30

Sixi-(mtntit

T 1

-13

+Xsed =—175

b ey = 0T A 50t %3 30 F i g0 2650 4 175 = 2825
w4 T A den A & T FE A
=1_5_0 X, +x\+x._+...______+x‘ —§—56_5
a0 50 50
=375 59, Ten observations 5,9, 14, 15, x + 1, 2x - 13, 26,
o ?é e = w375 §) 30, 32, 34 are written in an ascending order. The

57, A right cirenlar cylinder of maximum volume
iis cut from a solid cube of edge 14 em. The total
surface of evlinder is—

14 ¥t =T W TE ¥m o G st

median of the data is 24. Find the valoe of x.
= W 5,9, 14, 15, + 1, 2x - 13, 26, 30, 32,
A4 W AT W st fe W RS
el = w24 Bixwm oA §

imﬂm?&:ﬁ Ans.u-}:-.-w'raﬁdwu:a = 10 3 am #
b1 924 c'/924 i B gaﬁﬂ‘lﬁq‘?ﬂ:i‘ﬁﬂmﬂ
(€1 2404 en'y 2464 ” S S
i) 616 em'/616 g4 o 5% A A 463 W A
Ans. (%) : 9 799 9O B fem W T F Q@ A - z
s i o v i e ) e = 7 T
7 e (b = 14 em n=20
] . 3 5 F 0 20 B
T 60, 44 cows can graze a field in 9 days, How many
Hom, Tess/more cows will graze the same field in 12
s l days?/0e HarT w44 T 9 fasi A = s §
= Tl g W R wow wE 12 Rl F
I W T TS = 2arih+r) - w?

2
=23TK?(I4+TJ
=ddx2l
a4 T
T AT A T 924 T HI
Hrr : WEm T T T A T AT R A S fE
Ten 7| W S O AT G A

58. There are 50 numbers. Each number is
subtracted from 53 and the mean of the
numbers so obtained is ~3.5. The mean of the

tay 11 cows more/11 T =TT
(b3 15 cows more/ 15 T =R
(&) 11 cows lessg 11 T 53
1dy 15 cows less/15 T &7
Ans. (<) 7 AT A 1T 12 T A A
ved, =ed, (79, wA, fE A e A
HxB=xxI2
4429
A= =
12
A 44-33=11 %8 A 12 P A o

i3

given numbers is—
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